
1 https://jpw-catalog-qa-b2c-5.corevist.cloud/jwds-1632-open-stand-assembly
7/4/25

JWDS-1632 Open Stand Assembly
Product Images

Description

Index
Number Part Number Description Size Qty

 723520S Open Stand Assembly (includes #1-11)  1

https://jpw-catalog-qa-b2c-5.corevist.cloud/jwds-1632-open-stand-assembly


2 https://jpw-catalog-qa-b2c-5.corevist.cloud/jwds-1632-open-stand-assembly
7/4/25

1 JWDS1632-301 Leg  4

2 JWDS1632-302 Short Rail  2

3 TS-1550061 Flat Washer 8.3 x 18 x 1.5T 4

4 TS-1504031 Socket Head Cap Screw M8 x 1.25P x 16L 4

5 JWDS1632-305 Long Rail  2

6 JWDS1632-306 Shelf  1

7 JWDS1632-307 Flange Lock Nut M8 x 1.25P 24

8 JWDS1632-308 Carriage Bolt M8 x 1.25P x 16L 24

9 TS-1540071 Hex Nut M10 x 1.5P 8

10 TS-1550071 Flat Washer 10 x 20 x 2.0T 8

11 JWDS1632-311 Leveling Foot  4

Additional Information

Stock Number 723520K-4

Products in this set

https://jpw-catalog-qa-b2c-5.corevist.cloud/jwds-1632-open-stand-assembly

